Kite - Quadrilateral with 2 pairs of consectutive sides congruent but opposite

sides are not congruent. c
LGS L D
CANS2E Uerben :
A |. 8 Non~ Urstex
ngles Anblf>

Properties of a Kite

¢ Diagonals are perpendicular. Exactly one diagonal bisects the other.
¢ Exactly one pair of opposite angles are congruent
™
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1. a. What is the measure of ZAXB? = 9 Do

b.If AX = 3.8, whatis AC? = .(»

¢. If BD = 10, does BX = 5? Explain.




Quadrilateral PQRS is a kite with diagonals Q_S R
and PR.

Q<
A. What is mZ1? = 57

SOLUTION P

—

B. What is m£2? = 55 C. What is mz3? = 25 “



2. Quadrilateral WXYZ is a kite. X

a. What is m£1? = s2°

b. What is mz2? = >2°



In kite WXYZ, mzWXY =104°, and mz£ZVYZ = 49°. Find each measure.

1. meV2ZY =

2. mzVXW =

3. mzXWZ =

In kite ABCD, mzDAX = 32°, and mzXDC = 64°. Find each measure.

4. msXDA =

5. mzABC =

6. m«BCD =




Find the value of x.
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Trapezoid - A quadrilateral with exactly ?'&e pair of opposite sides parallel.
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e The bases are the parallel sides
® | egs are the non parallel sides
¢ 2 pairs of base angles



Isosceles Trapezoid
¢ | egs are congruent
¢ Both pairs of base angles are congruent / A=~ /
¢ Diagonals are congruent .
=20
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3. a. Given isosceles trapezoid PQRS, what are Q R
m4LP, m£Q, and m£LS? 35 < 135°

s s

3.b. Given ST || RU, what is the measure of
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All horizontal beams of the high-voltage

transmission tower are parallel to the ground.

The top section is an isosceles trapezoid. The
center section is an isosceles trapezoid.

A. If mZ1 = 138, what is mZ£2?

SOLUTION

10 ft 1 ™ 5 10 ft
/H/—\" ) [Y0-\ 3%

I l yx°

14 ft 14 ft




B. One cross support in the center of the tower
measures 4¢ + 3, and the other measures

6c — 5. What is the length of each cross
support? = |4 Ct

14 ft 14 ft

Ue+v= Ge-5

SOLUTION >=2c-5
Ex2c

£z 9

4c + 3 6c-5




4. Given isosceles trapezoid MNOP where the
given expressions represent the measures of the
diagonals, what is the value of a?

Re— | =apiny
a=-l=13
a=14




Midsegment of a Trapeziod

In a trapezoid, the segment containing the
midpoints of the two legs is parallel to the bases,
and its length is half the sum of the lengths of
the bases. Aveege  —

B -
XY | AD, XY |l BC, X7[ g

and XY = ;—(AD+ BO)
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